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���� ���� ��� ������� �� ��� ������� ����
���� �� !�"�� #������ $��%������ ��� ��� ����� ����&�'���
�� ��� �(���� �� �
�����)
 �
��%������
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8-J ������������	
 �	���� /4;;*< -;�85@-- 0D;4/BK-14*. @*8G< /57 ** ;*702.4.301= 2/*7-
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�43 -J1*2.;0= B/41;*;-5 S<;T.*<;4 1 28B>4* -J0./0F;0< 07;0/07;0< 3026080A->*230< 607*8- 2
;B8*10< ./*C6*/;0< 3/-1-J;0<

ds2 = dt2 − a2(t)(dx2 + dy2 + dz2)

≡ a2(η)(dη2 − dx2 − dy2 − dz2); U	��V

t =

∫

a(η)dη ⇔ η =

∫

dt

a(t)
U	�	V

21075.25 3 2-2.*6* 71BC 0DG3;01*;;GC 7-��*/*;@-489;GC B/41;*;-< F*/10A0 F0/5734P

ȧ2

a2
=

8π

3
ε; U	��V

ε̇+ 3
ȧ

a
(ε+ p(ε)) = 0. U	�
V

W;14/-4;.;0* B230/*;-* :2*8*;;0<

Ω =
aä

ȧ2
U	��V

�������� ��	�
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�������������
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��

� κ ≡ p/ε� ���
�����
�	�

Ω = −1

2
(1 + 3κ). �����

������

ε = ε(m) + ε(s); p = p(m) + p(s), �����

��� ε(m), p(m) � ���
���
� �����

 	�
��

� ε(s), p(s) � ���
���
� �����

 
 ������
� ������	���
� ! �#���	��
���� ! ����$� ���	����� �%����� !� ��
����&
! % #�%����
' (�������$� ������
��
	�	 	
�
	����#' 	����� ���
	���$�
�
�� � %�
���$�

ε̇(s) + 3
ȧ

a
(ε(s) + p(s)(ε(s))) = 0, ���)�

ε̇(m) + 3
ȧ

a
(ε(m) + p(m)(ε(m))) = 0. ���*�

+#�
� 
������

p(s) = −ε(s); ���,-�

p(m) = κ(m)ε(m); 0 < κ(m) < 1. ���,,�

.�
���
�#� #������
� ���)�� ���*�� ���#/
	�

ε(s) = ε0(s) = Const; ���,��

ε(m) = Ca−3(κ(m)+1). ���,0�

���� ������ ��	��
� � �
������
��
�
������ ��������

����	�
�
	 ��#/�$ #��
������

�
�
�%�$ 	�
��



p(m) =
1

3
ε(m) ���,2�


 �����

�����$ ���
���

 
�	��$ �����



ε0(s) > 0. ���,3�

+���
����� � �����
� ���,�� 
 ���,0� � #/�
�	 ����� � #������
� 4$��
�$�� ���0��

ȧ

a
=

√

8π

3
(ε(s) + ε(m)) ���,��


 
�
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�#� ��� ��� ��#/�� #��
������

�
�
�%�$ 	�
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� ���#/
	 �����
� #������
� 4$��
�
�$���

a2(τ) = a2(τ0) cosh(τ − τ0) +
√

a4(τ0) + γ2 sinh(τ − τ0), ���,��

��� τ ��
� 5�����	����� �
�
/��%�� ���	�

τ =
t

tc
≡ t

√

32π

3
ε0(s), ���,)�

� ���
������ γ2 ����� �
�����
' ���
���
�$ �����

 
��#/��
� 
 
�	��$ �����

 � 	�	��

���	��
� %���� 	���
�5� $ ��%
�� ����� ��
�
6��

γ2 =
C

ε0(s)
≡ ε(m)(a)

ε0(s)

∣

∣

∣

∣

∣

a=1

. ���,*�
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������ 
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� �

������� ��	 �
������

���� �� ������ 
��������
���� ������ ���
��� ��������� ����� a0��

τ0 = 0; a(τ0) = 1 ���� �

� �
������ ������
�� ���!�� " �����

a2(τ) = cosh(τ) +
√

1 + γ2 sinh(τ). ����!�

#�������� 
�����
�� �������
�$� ��"���� ����!� 
�� ������& ����������
�& �
���
�	& ���'
��
�

τ → −∞. ������

(�&��	 ����
����"�� 
�������

a2(τ) ≃
τ→−∞

1

2
eτ
(

1−
√

1 + γ2
)

, ����)�

��"��� ���
�� ��� ���� 
�� ����$�� ����
�����

γ ≡ 0 ⇒ ε(m) ≡ 0 ����*�

�� 
������ � 
������
a(−∞) = 0. ����+�

��� 
�
�����& �
���
�	& γ �������	 ����
���
�� ����!� ��
�������
� τ � 
�,��� ������� 
�����'
������
���� a2(τ)�

τ ≥ τ−∞,

τ−∞ = −1

2
ln

√

1 + γ2 + 1
√

1 + γ2 − 1
< 0, ����-�

��" ����
a(τ−∞) = 0. ������

. ����
����� 
�� ����& �
���
�	& "�
���
�� γ 
������ ���/���

τ−∞ ⋍ − ln
1

γ
. ����0�

#��

� 1��� ����
� �����
� a(τ∞) = 0 ������������� "������$����"�, ��
$��	�
����� ��1����
���� 
�� ������ ����& ���������	�������"�& 2
�����	&3 " 2������� ��"���
��� �����	
�/3� γ ∼
10−6 �� ��
������ 2���"�
��
� ������

�� 
������3 
� ��" �� ����
� ������

��� τ−∞ ∼ −6�
�����$�	 
� ������� δτ �������
�, ��"��� ����!� ������ 1��$� ����
�� �����
�� 
�������

a(τ−∞ + δt) =
√

γδt ����5�

6 ���������	�������"�/ ����
����"� ������ ��
$��	�
�, ���"��

���� ����� 	
	��� 
�
�
	��
�� 
�����

���������� ����
�
�� 7,
���,
� � �����"�, 
��������
�, 
������� ��
�����	 ����
�	 ���!)��

ȧ2

a2
=

8π

3
ε0(s)(1 + γa−3(1+κ(m))). ���) �

���������� 
�����
�� ����
�, 1��$� ����
�
�	 ������ ��
$��	�
���� a → 0� ��� 1���� ������
��
$���
�� ���
�� � 
����, ����� ���) �� �
	��'��"�� 	��	���	 ���������
�, ���
� ��1���� ������
��
$��	�
���� 
������ ������ ���) ��

d ln a

dτ
=

1

2

√

ε0(s)γa
−

3
2 (1+κ(m)). ���)!�

����	 1�� ����
�
��� 
�������

a(τ) =

[

1 +
3

4
(κ(m) + 1)γτ

]
2

3(κ(m)+1)

. ���)��



� ����� ����	
��

������ �	�
�� 
�� �	
�����
�� ������
	� a → 0 ��	 �����

�� �������� ����	������ � ����
�
�����
	�

τ∞ = − 4

3(κ(m) + 1)

1

γ
, ������

����� ����� ��!	� � ���"�	��� ������� ���� �!�"�

��� ��	���� τ−∞ ∽ −106��
���������	� 
 ���� �����	
�� �
����� �������� � �
�������� ���������� �������� ��
������������� �ε + P = 0� 
������	�� �������� �������������� ������� ! "�������� �����
������ � �������� �
�
��� � ��#���� �� �����������$ 
���� � ����� ������� �
�����% "
������ ��	�
�
������������$ �
����� ������ "�������$ ����
��������� ������� �� ������&
���	��$ ���� '���� �������� � ��������� '��
���%

�� 
������	� ����������� �����	 	�����		� ���������	�

���� ������	���
 ���
��

#���� ��������	���� ������ $����

�%� � !�����% ��	��������� �	�� �!����
�� �����

T s
ik =

e1
8π

[

2Φ,iΦ,k − gikΦ,jΦ
,j + e2m

2
sgikΦ

2
]

, ���&�

#���� �������� ��� 
���"��'�

�% �����	 Φ(t)� ��� !����	
��!��� �!����
��� ���� e2 = 1� ���
��
���
��� �!����
��� ���� e2 = −1) ��� ���� � �����!	��
	�� ��
�	��

� "���*�

�+ 
���	,
e1 = 1� ��� ���� � ��	��*�
	�� ��
�	��

� "���*�

�+ 
���	, e1 = −1� -�!	� ����"��� ����
	�
��� ����	!	 ���&��

T
(s)
ik = (ε(s) + p(s))δ

4
i δ

4
k − p(s)gik, �����

ε(s) =
e1
8π

(Φ̇2 + e2m
2
sΦ

2); �����

p(s) =
e1
8π

(Φ̇2 − e2m
2
sΦ

2); ���.�

-�!	� ����"��� "�!�
 ��+��
�
	� ��� ���� ����� ��	
	���� �	��

ε̇(s) + 3
ȧ

a
(ε(s) + p(s)(ε(s))) = 0 ⇒

e1
4π

Φ̇
(

Φ̈ + 3
ȧ

a
Φ̇ + e2m

2
sΦ

)

= 0. ���/�

0������ � ���/� Φ̇ 	≡ 0� ����
��� ����
�
	� �����

Φ̈ + 3
ȧ

a
Φ̇ + e2m

2
sΦ = 0, ���1�

2�� ����
�
	� 
���+��	�� ������ �������
� � ����
�
	�� 2%
���%
� ����� 3 �	����� 4�	+ � +
����
�
	% 	 ���������� ���
����
�� !�������	
��!�� ������ � �
���� �	�� ����� 
�� ������
����	�
��� 
��
� m2

sΦ � ����
�
		 ���1� 	�����"��� �������

� ���	"����
�� �	����� ��
!,	�
−∇V � ��� V 3 ����
,	�� �����
�
	� ���1� ������������� �����	 � !������	

�� ����
,	������

5�! �������� 4�� �	�����6 ���

� 	�����"����� ��	��	*�
	� ����� 
���	���� 78℄�

m2
s ≪ H2 ≡ ȧ2

a2
. ���8�

$ 4��� ���
�� ���*
� �����
����� 	 �����	��

m2
sΦ ≪ Φ̈, �����


�� ������������� � ���

�+ �����	�+ �����
��� ��
��	� !�����
���!	� ��� �!����
�+ ��"�
���
:��!� � 4��� ��	��	*�
		 ������� ����
�
	� ����	��� ! ��"����������

Φ̈ + 3
ȧ

a
Φ̇ = 0, ���;�
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����
��� �
���� �����


� � �
��	��


�� ����������
������ 
����
� �

������� ����� 	
��� ������� �������� ���
������

Φ = Φ0 = Const. ������

��� ���� 	����	�� ����� � ����� ��������

εs = −ps =
e1e2
8π

m2
sΦ

2
0 = Const. ������

���	��
��� ��� ������� ��� e1e2 = +1 
 ���
�����  !����!�� �"��� � ����� ���# ������� ��$
���&������ ��������

a(t) = a1e
H0t, H0 =

ms√
3
|Φ0|. ����"�

' ���! ������ ������ '	������!# 	���
��	�
�()�� ��	��������	��! 	���������	�� a = 0# ��*�$
���	� 
 
�	������� ��������� ��������

a(−∞) = 0. ������

+������# ��� ���
�����  !����!�� �"��� 
 ��		�����
����! ������ ����� 
���

H2 = H2
0 , ������

������� 	����	�� ����"� �	��
�� ���,� ��
�
������� �	��
�(�

|Φ0| ≫
√
3, ����-�

����# ��	
���
��� �
���
 ��� 
�
�� �
����� ����
��� 	
�
������ �������
�
 	
���
.�
����� �����/ 	����()�( ������&�(� ���	��
�� �����/ ������� ���
�����  !����!��

����"� 
 �	*����� ���
����� 	��������� ���� ���0�

Φ̈ + 3H0Φ̇ + e2m
2
sΦ = 0 ����0�

� ��!��� ��� ������ �������# 
 ������� ����� �	��
�� ���,��

Φ ≈ C1e
−3H0t + C2e

−
e2m

2
s

3H0
t
. ����,�

���
1! ���� 
 ���� ������� 
1	��� 2���*���# � 
����! ���� ��� �	��
��

mst ≪
3H0

ms
≡

√
3|Φ0| ����3�

�	����	� ���
��2����/�� ��	�����1�� ������� ��� �	��
�� ����3� �1 ��������

Φ ≈ Φ0e
−

e2m
2
s

3H0
t ≈ Φ0 ≫ 1. ������

+������# ��� 
	���	�
�� ���,� �	��
�� ����3� ����2�� 	��
�� �	��
�� ���3�# ������� �����&������
������� 	���
����
� ��� 
����� ����2�� 
��/��* ��������
	��* ��� 	������1* 
�2���
�

t ≪ tc =

√
3|Φ0|
ms

≫ 1

ms
. ���"��

���� �����	 
��
������	���	 �	�	��	 ��
��	��� �����

4������# ��� �1 ��5�� ��!�� � ������ �	���������	��� ������� ���
����� ���0� 
 ���
��5����
���3��

Φ̈ ≫ m2
sΦ ⇒ ���"��

Φ̈ + 3
ȧ

a
Φ̇ = 0 ⇒

a3Φ̇ = Const ⇒ Φ̇ = C/a3(t), ���""�



�� ����� ����	
��

������� 	
�
��
C 	= 0. 
�����

��� �	�� �������� �����
 �������
��� �
�������� �	�����	� ��������  �
� � �����
���� ���
���	���	� ��
���� � ����
��� ���������� ���� 
���� � 
��!�" 	���� ��� ���������� ���� �����
�#
���� ��
�
���� # �
�	��
 $����
��
 $����
��
 ���	�����%

p(s) = ε(s), 
���!�

$����
��
 &��'	
��� � �	�� ��$ �
 �
��� �
'�
	�� 
	
�
�� ������ ��	� e1 = +1�" � �� ���$ ��%

a = a1 t1/3; Φ = φ0 ln |t|+ C0 
���(�

) a1, φ0, C1 ) ����*������
 ����	��	�" ��� 
� φ0 	= 0�
+��
�'�� 	
�
�� ��
�$,-$, �	
��.�," ����	�����" ���	�#	���" ���'	����� ���	�� � �����#

��
 $����
��
 ���������� ����

Φ̈ +
1

t
Φ̇ +m2

sΦ = 0. 
���0�

�
'�� �	� $����
��
 ���$ �� � $ 
	�� ����������  �
��%

Φ = C1J0(mst) + C2Y0(mst); (e2 = +1); 
���2�

Φ = C1I0(mst) + C2K0(mst); (e2 = −1), 
���3�

��
 J0(z),Y0(z), I0(z),K0(z) 
�	� �$��.�� 4
��
��" �* ��� ��
 �
���
 �
��	��	
������ ���$�
�	�"
��
 ����
���
 ������� ���$�
�	��

5�����*$� �����	�	��$ �	�� �$��.�� ��� ����� *�� 
���� ���$�
�	� z = mst ≪ 1" ���$ ��
�* 
���2�" 
���3�%

Φ ≈ C1 + C2
2

π
ln

mst

2
; (e2 = +1); 
���6�

Φ ≈ C1 + C2 ln
2

mst
; (e2 = +1), 
�����

	�
�" ��� ����� *�� 
���� mst �� ����� ���$ �
� �
'
��� 
���(�� ���	��$ �
'
��� 
���(� 	���

����,	�� �����	�	� 
���� �
'
����� $����
��� &��'	
��� � ���������� ����" ���$ 
�����
��� ����� � 	�� �
 $������ 
��3�� 7�����" ��������� 
���� ��	$�.�� ��*�	
���� �
��
	��� 8 �
�#
��� ��$ �
 �� ��

� �����.�����
 �
'
��
 
$����
��
 Ω = 1� � ����$������	�, � �
����
 ��
�	���
���� ���'���" �� �	���� ��$ �
 ��

	�� �
'
��
 � �	��.�	
����� $����
��
� Ω = −2 � �
����$������	�, � �$�
��� ���
�	 ��
�
�� t = 0� +�	$�.�� ������	�, ���
�
��
	�� ������� ���#
�	��	� � $����
��� �
����� ������� 
������ &	� �
'
��
 �	�����	���� �.
�����" ���	�
	�	�$,-


���	������$ *�� 
��, ���������� ���� 
����� �� �$�
� ��*���	� ��� ���	���	� � �����
�'
�
����������� �	
	��	��
���������	� 
 ����������
 ����������	���
 ��	����
 � ������������ ������� �����	����

��	� �������� �	
	��� �	���������� �����	��� ���������� ����� ��� ������������� �� 	�� �	�


	��� !���� �����	��� �������� ���	��	�" #�	�	���� ��		� ���	���� �������" � 		 �����

������ �����	�����	� ��	�	���� $	������ �����	��� ����������

&	� ������	 �� ����� � �
$�	�� ����	� �	�����	���� �
'
����

���� ������	
���� ���
����
��� ����
	�

������	��� ��*�$-
��� �	�����	��� ���
��" *�����-�
 ��'� �	 ��
�
�� � ��*���
��
 ���	�#
��� ����� ms" ��	��$, �$�
� � �	�	� �
�� ���� �
����� ������� �����	�%

a(t) = a0(t)(1 + δ(t)); 
�����

Φ(t) = Φ0 + φ(t). 
�����

����	����� 
����� � $����
��
 ���������� ���� 
��0� � ��*����� ���$ 
���
 $����
��
 � ��� ��
�����	� φ, δ,m2

s" ���$ �� $����
��
%

φ̈+ 3H0φ̇+ e2m
2
sΦ0 = 0, 
�����



���������	 
����
����
��� �
���� �����


� � �
��	��


�� ����������
������ 
����
� ��

����� ��	����
 ���
�� �
�� ��������� ������ �� �������� Φ0 > 0, e2 = +1��

φ = C1 + C2e
−3H0t − Φ0

ms√
3
t,

������ �� 
����� ������	� C1 = 0
 	�� ��� ���	 �	��� ����� �����
�	 ���� � ��������
����� 
Φ0! "���� �#������

φ = C2e
−3H0t − Φ0

ms√
3
t. �$!$%�

&��������� ��������� '���	���� � �������� �� δ ���#������� �����
�	 � �������� �

δ̇ =
4π

3H0
δε(s). �$!$(�

)� �$!$� ��
��
 �	� ���������� ���	���	� ������� ���
��	���� �� ����������� φ � m2
s! *�
�	��+

��� ������� �$!$%� � ��������� �$!$(� � �������
� ������	����� ��	�����������
 �� ��
��
 �	�
�	� ������� ����	 ������

δ(t) = A1e
−6H0t +

e−3H0t(A2 +A3t+Aat
2) +A5t

3, �$!$-�

�
� Ai + ����	���� ������	��� ��������� ����	��	�
 �������� ��	���. �� �����! &����� ����+
�	�� 	� �#�	��	����	��
 �	� � ������ �����/������ &�������� �$!�$�
 	!�!
 ��� t → −∞ �������
������ � �	�� ������� �	�����	�� �������

δ ⋍ A1e
−6H0t → ∞, (t → −∞). �$!$0�

"���� �#�����
 � #���������� ������� &�������� �	����	������ ���������� ����	�#���� ���+
	���
 ��������� ���	�� ��������� ����� � ��������� ���������� ����
 �	����	�� � #����������	�!
'	� �������	 ����	�������	� �����/������� ������� �� �	������ � ���	��� �����!
���������	� 
 �����������	 
	�	��	 �

��	��� �����	��
 ������ � ������ �	��������� ��
�����	��� � �
���
� �
��� ��!��"	��� �	�
��� � ��
��
��#� ���� ��

��
�� $� %	����	�&
����� � %	����	���� �
������

*����
��� �	����
���� �������	
 �	� �	��� #��������� �
�������� �������� ����	� �� ����+
�	������!

�� ����	���	����� ��������	� 	��������� ���������

���� ����� 	

��

����

1#���� ��
��� � ��������� �����/��� ������	���� 	 ���
� ��� �#������

gik = (g0ik + a2hik)dx
idxk, �%!��

�
� g0ik 2 ��	���� 3��
����
 hik 2 �����	�/������ ����������! *�� �	�� �#���� �� '��	���	&
���( ���%

)	��� �������	�� ������ &�������� ��������� � ���������� ���	����� ε + P = 0

� �����	�/������ ���������� ������ �hik ≪ 1�
 ����
�
 �#���� �#.�
�	�� �	������ ������
 �
����� �����	 ������� ��� �����! 4�� ����. /���� ��� 
��	�	���� �����	� ���������� �����+
	�/������ ����������
 	!�!
 �����	�/������ �����!

5�	���� � ����������� �����	�/������� ������������ ������� � ��
��

ds20 = a2(η)(dη2 − dx2 − dy2 − dz2); �%!6�

ds2 = ds20 + a2(η)hαβdx
αdxβ ; �%!$�

hαβ = eαβS(η)e
inr, �%!%�

�
� S(η) 2 �����	�
� �����	�/�����. ����! 4�����

hα
β = hγβg

αγ
0 ≡ − 1

a2
hαβ ; �%!(�

h ≡ hα
α ≡ gαβ0 hαβ ≡

− 1

a2
(h11 + h22 + h33), �%!-�



�� ����� ����	
��

������ 	
� ��
���
������� ��
�

hα
βnα = 0; �����

h = 0. �����

��
�	����� ����� � 
������� �� h ����
������ 

√−g ≈ √−g0 = a4. ���!�

"��

��� ��#��$ ��	��	$ �
�������� ��%�
������ &�������� �����
��
����� �&

����� ��
�
�ms = 0� � ǫ1 = +1 

Φ′′ + 2
a′

a
Φ′ − ∂ααΦ = 0 ����(�

�′ ≡ ∂η� � ��� ����%�$#����� ��)���� 

Φ = Φ0 = Const. ������

*
&�� ���
%��+ ��
�	����� ����� � 
������� ����
������ ��
���
������� ��
�� �� �
��,� �

�&

����� ��
�� ����)�� ����$
� 	
� ���
��������� ��)���� $�
������ -��)����
 � .���
�
$�
� � ����#/, ��������� ���������� η 

a = eΛt ⇒ dη =
dt

a(t)
⇒

η − η0 = −e−Λt + e−Λt0 ;

a = eΛt =
1

−η + η0 + e−Λt0
;

(η0 + e−Λt0 = 0) ⇒

a(η) = −1

η
, η < 0; ������

� .��� ��������� ���������� &����
������&�� ����$
������� a(η) = 0 ����������$�� %�
�����
η0 = −∞+ 
 ���&������ $	

�����$ �$	$#��$ η+∞ = −0 

a(η0) = 0 ⇔ η0 = −∞; ����0�

a(η∞) = ∞ ⇔ η∞ = −0. ������

���� �����	�
	 ��
 ����
���� ����
���
����� ����

1�

�
� 	
� ����	�
������� 

n = nδα3 ; h12 = 0; h11 = −h22 = S(η)einz , ����2�

� �
%

�
� ���%�� -��)����
 �� �

���� 
��
��$	� ��
���
������� ��
�� S+ � 
������� �� S
����
������ ��
$��� �	���������� �������

/��� &��������� 

δG11 = −δG22 =
1

2
einr ×

[

S′′ + 2
a′

a
S′ + S

(

n2 + 2
a′2

a2
− 4

a′′

a

)]

����3�

1�	��
�
�� ���
����� 	
� �������


 �0���� � ���
����� ������ 	
� ���%��
 .������4
���$
/�
 �&

������ ��
�+ �
�	�� � 
������� ����
������ 

T
(s)
αβ =

e1e2
8π

m2
sa

2hαβΦ
2
0. ������

*
&�� ���
%��+ � 
������� ����
������ � $����� ���
��������� ��)���� ������ ��
$��� $�
�4
����� �
 
��
��$	$ ��
���
������� ��
� �e1e2 = 1+ a1 = 1� 

S′′ +
2

η
S′ +

(

n2 − 6

η2
− 6H2

0

η2

)

S = 0. ������



���������	 
����
����
��� �
���� �����


� � �
��	��


�� ����������
������ 
����
� ��

S(η) =
C1√
η
Yµ(|n|η) +

C2√
η
Jµ(|n|η), ������

�	
�

µ =
1

2

√

25 + 24H2
0 . ����
�

� ���������� ������ ����������
���� ������� ����� η → −∞� ����� �!�"� � |nη| → ∞ � ���
��

����#� ���	���� � � ���
��$�

S′′ + n2S = 0, ������

��
$%
�� �����  
&
��
� ��!��!
 �'() 
&
����

S = C1e
inη + C2e

−inη, ������

���� !
� ������� ��*�� +������" � �� �������  
&
��� ������ � ,��� + 
	
�
�

���� �����	
�	�
���� ����	���	����� ����

�!������ +�
�	��
��� -��	�� ) -��&�/� 0�℄ � �� 
	��� 
�� +� ��+ ���
����� +������ 	��
,�
 ��� ) ��+��"�� � �����/����!2 �����

T
ik =

1

a2
(Egw + Pgw)δ

i
4δ

k
4 − Pgwg

ik, ������

Egw = − 1

16π

S2n2

a2
− 3

32π

S′ 2

a2
+

5

8π

SS′a′

a3
; ������

Pgw =
1

96π

S2n2

a2
+

13

12π

SS′a′

a3
− 17

12π

S2a′ 2

a4
, ������

� ��	
��

T = Egw − 3Pgw = − 3

32π

S′ 2 + S2n2

a2

− 21

8π

SS′a′

a3
+

17

4π

S2a′ 2

a4
. ����
�

���������� � ��� ������� ������������ ������� ������ !���"���

Egw = − 1

32π
η2(3S′ 2 + 2S2n2)− 5

8π
SS′η; ����#�

Pgw =
1

96π
S2n2η2 − 13

12π
SS′η − 17

12π
S2, ����$�

%�	�� �&��'�� �&��'� 	������(�"��	�) ���(��������� η → ∞ !���"�� �' ����#� * ����$��

Egw ⋍ − 1

32π
η2(3S′ 2 + 2S2n2); ����+�

Pgw ⋍

1

96π
S2n2η2, ���,-�

��� !��������	� �.�� ������� ���,�� !���"���

Pgw ≈

1

3
Egw ≈

1

96π
S2n2η2. ���,��

���������	� 
 ����� ����	��
 ����	� ��
��������
��� 
���������
�� ������
�� �������
�
������ �������������� ���� 
������
� � ��
�������
�� 
 ��������������
�
��� �������
���� 
�
�������  ��!���������
 
����
�� ��	�������� ��	!��� " ������ ����� #
������� ���
����
� ��������������
�
���
 � �� ������������
 � 
��� #
������� ����� ������ � ������
��� �����������
��� ���%��� &"�"'(� ����� ����	��
 ��!��� #
������� 
 ��������� ���������
���
������� !�)� � 
����� ���������� �������������� ��	��*������



�� ����� ����	
��

�� ������	
�	

����� �	
����� �
 ��������� ��� ������ ��������� � ��
����������� ��������� ���������
����������
� ��� �������������� �
��������� � �
� ���� !

�� "����� � 
����� ��������� ����������
 �� ����#���$ � ��	�������� ���
 �
������ ��%
�������� ����
�� � �
�������� ���������� ������$&�'��� �� �����������'� ε+P = 0� (
�
)��� ��������� ����������� ������ � �������� �
�#���� � ���#��	�
� �����
 � ������
����
�� ��������� 
����� �� ���������� ������� ���������� ��
� ��� �� )�������������
�*

+� "����� � 
����� ��������� ����������
 �� ����#���$ � �

�,������� 
�#���$ � �����%
���
� �����
�
� ������ (
� �
�������� 
�#���� �����
 �
������� ��������� ���������
� ������
� �������*

-� "����� � 
����� ��������� ����������
 �� ����#���$ � ����
���
� '
����������
�
�����&������ ����

� �� 
���� ������ ��$� ����
�
������������$ ��	���� � )��
'�$%
�������� ��� �
������ � ������,���$ ��%.����
������ ������ )���$����

(
� )��� ���	 ����� ��������� ��� ���������� 
����� �������� /�� �
����� ��
���� 103 ÷ 104

���������� �
����0 �
� )��� ����� ����� 	
�� /��� ����
�����
� 
�	��
 1���
� � �'� �����'0�
� ����$����� 1���
 �

�,��� 	��'���
����� ������ �. % ������
� �� 
������������� ����%

���� � �������'�� 2�������'� ����
�����'� �����
������ �� �������� �	��,����� 
�	��
�
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�� ���
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